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      General Instructions to Candidates :
There is a 'Cool off time' of 15 minutes in addition to the writing time of
2½ hrs.
You are neither allowed to write your answers nor to discuss anything with
others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from
the same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Give equations wherever necessary.
Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

     j]¡SÇw°¥:

j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU. CT

yop¾V S\Lh|°¥¨V D¾qU IuOfLSjL, oãOçvqOoLp] Bwp

v]j]opU ja¾LSjL kLa]Š.

D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.

IŠL S\Lh|°¥¨OU D¾qU IuOfeU.

KqO S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk

S\Lh|°tOU ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.

We V̈  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾q SkÕr]¤¾RÐ

DºLp]q]¨eU.

Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.

S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO

CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. Entity in MS Access is a ..........

a) object of relation

b) present working model

c) thing in real world

d) model of relation

2. Accounting means recording
of ...........

a) economic transactions

b) economic events

c) both options a) and b)

d) neither options a) and b)

3. Trial Balance is ...........

a) an account

b) a statement

c) a subsidiary book

d) a principal book

4. Find the odd one out and justify
your answer.

a) Ready-to-use

b) Customized

c) Tailored

d) Database

1. IU IyV BWVyô]¤ I¢£]ã]

IÐfV .................... BWOÐO.

a) object of relation

b) present working model

c) thing in real world

d) model of relation

2. A¨Tº]°V IÐL¤ .................

SqXRÕaO¾sLWOÐO.

a) economic transactions

b) economic events

c) both options a) and b)

d) neither options a) and b)

3. Nap¤ mLs¢yV ...................BeV.

a) an account

b) a statement

c) a subsidiary book

d) a principal book

4. Svr]ŸO j]¤¨OÐf]Rj WRº¾]

D¾qU yLiPWq]¨OW.

a) Ready-to-use

b) Customized

c) Tailored

d) Database

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)
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5. Transactions between owner

and business are recorded due

to .............. principle.

a) going concern

b) accounting entity

c) matching

d) consistency

6. What is the maximum length a

text field can be in MS Access?

a) 120

b) 255

c) 265

d) 75

7. Journal entry to record 'Salaries

paid' will include ............

a) debit cash and credit salaries

b) debit salaries and credit cash

c) debit capital and credit

salaries

d) debit salaries and credit

capital

5. DaoyVgjOU m]y]jôOU fÚ]sOtt

CakLaOW¥ SqXRÕaO¾OÐfV

..................... ff~U AjOyq]\ÿLeV.

a) going concern

b) accounting entity

c) matching

d) consistency

6. IU IyV BWVyô]¤ RaWVyVãV

l}¤c]R£ kqoLvi] RRh¡Z|U

INfpLeV?

a) 120

b) 255

c) 265

d) 75

7. wÒtU RWLaO¾O IÐf]R£

S^¡e¤ I¢Na] SqXRÕaO¾OSÒL¥

D¥R¨Ltt]S¨ºfV ...................... .

a) debit cash and credit salaries

b) debit salaries and credit cash

c) debit capital and credit

salaries

d) debit salaries and credit

capital

(1)

(1)

(1)

(1)

(1)
(1)
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8. Complete the following chart. 8. fLRu RWLaO¾]q]¨OÐ \L¡ŸV

kP¡¾}Wq]¨OW.

Components of Computer

Eg : .......?........

.........?...................?..........

Eg : .......?........

Input Unit Output Unit

9. SWLSouVyV v]h|L¡À]pLp AfO¤

WæLôV oOr]p]¤ Nkh¡w]Õ]¨OvLjLp]

fáLrL¨]p cprWVaV

IWVyVRk¢y]R£ DhLzqe°tORa

KqO SqXL\]NfoLeV \OvRa

RWLaO¾]q]¨OÐfV. CT

SqXL\]Nf¾]¤ vÐ]ŸOtt RfãLp

DhLzqe°¥ WRº¾OW.

9. Athul, a commerce student

prepared the following diagram

showing examples of direct

expenses for exhibiting in the

class room. Identify the wrong

examples appearing in the

diagram.

(2)

(2)

(2)

(2)
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10. o]. ARRh~fV 2,50,000  qPk

j]Sƒk]\ÿV KqO m]y]jôV BqUn]\ÿO.

Af]¤ j]ÐOU 20,000 qPk

l¡e]\ÿrOU 25,000 qPk WUk|PŸrOU

40,000 qPk yLij°tOU vL°L¢

DkSpLY]\ÿO. ApL¥ 3,000 qPkpORa

yLij°¥ ASwLWjV WaoLp]

v]¤¨OÐO. WPaLRf 15,000

qPkpORa yLij°¥ yOh}k]¤

j]ÐOU WaoLp] vL°OWpOU R\pVfO.

oOWt]¤ fÐ]ŸOtt v]vq°t]¤

j]ÐOU CvRp f]q]\ÿr]pOW.

a) oPsij¾]R£ fOW INfpLeV?

b) RcmVã¡ BqLeV,

ApLt]¤j]ÐOU W]ŸLjOtt fOW

INfpLeV?

c) ApL¥ vL°]p yVg]q

ByVf]W¥ JRfLR¨?

11. A¨Tº]°]jV \]s YOekqoLp

yv]SwxfW¥ DºV. JRfLR¨?

10. Mr. Adwaith started a business

with Rs. 2,50,000 as an initial

investment. Of which he paid

Rs. 20,000 for the purchase of

furniture, Rs. 25,000 for

computer and Rs. 40,000 for

stock of goods. He sold goods on

credit to Ashok for Rs. 3,000. He

also purchased goods from

Sudeep on credit for Rs. 15,000.

From the above information,

identify –

a) What is the amount of

capital?

b) Who is the debtor and what

is the amount receivable

from him?

c) What are the fixed assets he

bought?

11. Accounting possess certain

qualitative features. List them. (2)

(3)

(2)

(3)
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12. Calculate the value of cost of

goods sold and gross profit.
12. SWLyVãV KLlV YOcVyV

SyL¥c]R£pOU SNYLôV

SNkLl]ã]R£pOU fOW We¨L¨OW.

13. 10 sƒU qPk v]sof]¨OÐ KqO

RWŸ]aU 8 sƒU qPk¨V vL°OWpOU

A¨TºV kOyVfW¾]¤ 8 sƒU

qPk¨V fRÐ SqXRÕaO¾OWpOU

R\pVfO.

a) oOWt]¤ kqLo¡w]\ÿ]ŸOtt

A¨Tº]°V ff~U JfLeV?

b) B ff~U vwh}Wq]¨OW.

13. A building worth Rs. 10 lakhs is

purchased for Rs. 8 lakhs and

recorded the same in the books

of account at Rs. 8 lakhs.

a) Name the accounting

principle referred in the

above.

b) Explain that principle.

Stock in the beginning 18,000

Stock at the end 20,000

Purchases less returns 60,000

Carriage on purchase 4,000

Sales 1,32,000

Sales returns 7,000

(3)

(3)

(1)

(3)
(1)

(3)
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14. o]. oQeLs]jV KqO yVgLkj¾]¤

R\r]p R\svOW¥ RRWWLq|U

R\áOvLjLp] W|Lx|LrLp] j]pojU

sn]\ÿO. ApL¥ C¾qU R\svOWRt

NkSf|W kOyVfW¾]¤

SqXRÕaO¾OÐO.

a) oQeL¤ fáLrL¨]p

kOyVfW¾]R£ SkqV

f]q]\ÿr]pOW.

b) fLRu RWLaO¾]ŸOtt

CakLaOWt]¤j]ÐOU B

kOyVfWU fáLrL¨OW.

14. Mr. Mrinal got appointment as

cashier in a firm for handling

only the small payments and

expenses. He records these in a

separate book.

a) Identify the name of the book

prepared by Mr. Mrinal.

b) Prepare that book from the

following transactions. (3)

2015

June 1 Cash received from main cashier Rs. 250

....."..... 3 Stationery purchased Rs. 25

Cleaning expenses Rs. 30

....."..... 9 Bus fare Rs. 14

....."..... 13 Telegram charges Rs. 18

....."..... 14 Cartage paid Rs. 40

....."..... 20 Pen, pencils etc. Rs. 38

....."..... 28 Stationery Rs. 28

(1)

(3)

(1)
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15. Following errors were noticed in

the books of Mr. Prem.. Wages paid Rs. 3,000 to

Ganesh was debited to his

personal account.. Wages paid for building

construction Rs. 12,000 was

debited to wages account.

a) Identify the type of error and

rectify them.

b) Name the temporary ledger

account opened for putting

the difference in the trial

balance.

16. You are given certain

transactions of a trader.. Started business with cash

Rs. 60,000

. Furniture purchased

Rs. 12,000.

. Purchased goods on credit

from Abhi Rs. 8,000.

. Received commission

Rs. 2,000.

15. o]. SNkoR£ kOyVfW¾]¤

WRº¾]p \]s RfãOWtLeV fLRu

RWLaO¾]q]¨OÐfV.. Wages paid Rs. 3,000 to

Ganesh was debited to his

personal account.. Wages paid for building

construction Rs. 12,000 was

debited to wages account.

a) JfO fqU RfãLReÐV WRº¾]

f]qO¾OW.

b) Nap¤ mLs¢y]Rs v|f|LyU

SqXRÕaO¾L¢ fáLrL¨OÐ

fLfVWLs]W RscV^¡

A¨Tº]R£ SkqV IuOfOW.

16. KqO W\ÿva¨LqR£ \]s

CakLaOWtLeV fLË¥¨V

j¤W]p]q]¨OÐfV.. Started business with cash

Rs. 60,000

. Furniture purchased

Rs. 12,000.

. Purchased goods on credit

from Abhi Rs. 8,000.

. Received commission

Rs. 2,000.

(4)

(1)

(4)

(1)
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a) oOWt]¤ fÐ]q]¨OÐf]R£

A¨Tº]°V yovLW|U

fáLrL¨OW.

b) A¨Tº]°V yovLW|R¾

Aa]yVgLjoL¨] v]ŸOSkLp

fOWRp WRº¾OW.

a) Prepare an accounting

equation for the above.

b) Supply the missing amounts

on the basis of accounting

equation.

17. Anu draws a bill on Achu for

Rs. 3,000 on 1st January, 2015

payable after 3 months. Achu

accepted and returned the bill to

Anu. The bill is discounted by

Anu on the same day.

a) Calculate the amount of

discount in the following

cases.

. The bill is discounted for

Rs. 2,900.

. The bill is discounted @ 12% p.a.

b) Ascertain the maturity date

of the above bill.

Assets =  Capital + Liabilities

1) 20,000 ........?...... 2,000

2) .......?......     30,000 9,000

17. 2015 ^jOvq] 1&jV AjO 3 oLy

WLsLvi]pOtt 3,000 qPkpORa KqO

m]sæ]jV A\ÿOv]SjLaV Bvw|

RÕaOÐO. A\ÿO AfV y~}Wq]¨OWpOU

AjOv]jV m]sæ V  j¤WOWpOU

R\áOÐO. ASf h]vyU fRÐ AjO

B m]sæV c]yVWTºV R\áOÐO.

a) fLRu fÐ]q]¨OÐf]Rs

c]yVWTºV fOW We¨L¨OW.. The bill is discounted for

Rs. 2,900.. The bill is discounted @ 12% p.a.

b) oOWt]¤ kr´ m]sæ]R£

WLsLvi] h]vyU WRº¾OW.

(4)

(2)

(1)

(2)(2)

(1)

(4)

(2)
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18. "Outstanding Expenses are to be

accounted for while preparing

the financial statements".

a) Which concept of accounting

is mentioned in the above?

b) Complete the following

table.

18. l]jL¢x|¤ SðãVRo£OW¥

fáLrL¨OSÒL¥ KTŸVðL£]°V

IWVyVRk¢yOWRt kq]Ye]S¨

ºfLeV.

a) A¨Tº]°]Rs JfV ff~oLeV

oOWt]¤ yP\]Õ]\ÿ]ŸOttfV?

b) fLRu RWLaO¾]q]¨OÐ kŸ]W

kP¡¾]pL¨OW.

Adjustments Treatment in the Treatment in the

P&L account Balance Sheet

Eg: Outstanding salary Added with salary Shown on the

on closing date on the debit side Liability side

a) Prepaid insurance on ............?............ Shown on the

closing date Asset side

b) Depreciation on ............?............ Deducted from

furniture furniture on the

Asset side

c) Bad debts given outside Debited to ............?............

the Trial Balance P&L account

(3)

(1)

(3)

(1)
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19. fÐ]q]¨OÐ CakLaOWt]¤ j]ÐOU

k¡S\ÿpVyV mO¨V fáLrL¨OW.

19. Prepare Purchase Book from the

following transactions.

20. The cashbook of a trader showed

a debit balance of Rs. 48,000 on

31st January, 2015. On

comparing the same with bank

passbook, the following

information was received.

2015

May 1 Purchased from Appus Stationery

100 school bags @ Rs. 180 per bag

50 packs of pencils @ Rs. 30 per pack

Trade discount 10%.

....".... 12 Bought from KK Stores

200 college note books @ Rs. 30 each

....".... 21 Purchased from Ganga Traders

150 file boards @ Rs. 10 each

50 Instrument boxes @ Rs. 60 per box

Trade discount 5%.

20. KqO W\ÿva¨LqR£ W|LxV mO¨]¤

2015 ^jOvq] 31jV 48,000 qPk

Rcm]ãV mLs¢yV WLe]¨OÐO.

Af]Rj mLËV kLôV mO¨OoLp]

fLqfo|U R\áOSÒL¥ fLRu

j¤W]p]ŸOtt v]vq°tLeV sn]\ÿfV.

(4) (4)
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i) 2015  ^jOvq] 31R£ mLËV

r}W¦y]s]Spx¢ SðãVRo£V

fáLrL¨OW.

ii) fLRu fÐ]q]¨OÐ S\Lh|¾]jV

wq]pLp D¾qU NmL¨ã]¤

j]ÐOU f]qR´aO¨OW.

i) Prepare a Bank

Reconciliation Statement as

at 31st January, 2015.

ii) Choose the correct answer

from brackets for the

following question.

a) Cheques drawn but not yet presented : Vipin Rs. 5,000

  Nabeel Rs. 4,000

b) Cheques paid into bank but not yet credited :

Shaji Rs. 2,000

Jisha Rs. 3,500

c) Bank charges not entered in cashbook Rs. 300

d) Dividend on shares collected by bank Rs. 1,800

21. 2015 RlNmOvq] 1jV qL^}vV

1,20,000 qPkpORa 3 oLy WLsLvi]

pOtt KqO m]sæ]jV Avw|RÕaOÐO.

m]sæ V  W]Ÿ]p DaRj qL^}vV AfV

SyLojV RRWoLrOÐO. WLsLvi]¨V

m]sæ]R£ keU sn]¨OÐO.

IsæLvqORapOU mO¨]Rs S^¡e¤

I¢Na]W¥ IuOfOW.

21. Rajeev drew a bill of Rs. 1,20,000

on Sajeev on 1st February, 2015

for 3 months. Immediately after

acceptance, Rajeev endorsed the

bill to Soman. The bill was met

on maturity. Make journal

entries in the books of all the

parties.

A bank reconciliation statement is prepared by ........... (bank / depositor).

(1)

(5)

(1)

(5)

(5)
(5)
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22. A machinery was purchased by

Kefcon Ltd., for Rs. 5,00,000 on

1st April, 2011. It purchased

additional machinery for

Rs. 2,00,000 on 30th September,

2012. The machinery purchased

on 1st April, 2011 was sold for

Rs. 3,70,000 on 30th June, 2013.

Depreciation is to be charged at

10% p.a. under straight line

method.

a) Prepare machinery account

upto 31st December, 2013

books are closed on 31st

December each year.

b) Make correct pairs from the

following on the basis of hint

given.

(Hint : Current Assets :

Fluctuation)

i) Depreciation

ii) Depletion

iii) Wasting Assets

iv) Fixed Assets

22. 2011 JNk]¤ 1 jV RWlVS¨L¦

s]o]ãcV 5,00,000 qPkpORa

Rox]er] vL°OÐO. 2012

RykVãUm¡ 30jV  2,00,000 qPkpORa

oRãLqO Rox]er]pOU vL°OÐO.

2011 JNk]¤ 1jV vL°]p Rox]er]

3,70,000 qPk¨V 2013 ^P¦ 30jV

v]¤¨OÐO. SfpVoLjU We¨L¨O

ÐfV yVRRNaãV RRs¢ q}f]p]¤ 10%

vL¡x]W j]q¨]sLeV.

a) 2013 c]yUm¡ 31 vRqpOtt

Rox]er] A¨TºV

fáLrL¨OW, mOWVyV

AvyLj]Õ]¨OÐfV IsæL

v¡xvOU c]yUm¡ 31 jLeV.

b) yP\jpjOyq]\ÿV fÐ]q]¨OÐ

f]¤ j]ÐOU wq]pLp S^Lc]WRt

DºL¨OW.

(Hint : Current Assets :

Fluctuation)

i) Depreciation

ii) Depletion

iii) Wasting Assets

iv) Fixed Assets (1)

(5)

(1)

(5)
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23. Vimal started a business on

1st January, 2014 with an

investment of Rs. 1,60,000. He

does not maintain proper books

of accounts for his business.

During the year 2014 he

withdrew Rs. 20,000 for personal

use and introduced Rs. 10,000 as

fresh capital. His position of

assets and liabilities as on 31st

December, 2014 stood as follows.

Cash in hand 15,000

Stock in trade 55,000

Bills Receivable 20,000

Debtors 40,000

Creditors 35,000

Bank balance

(Overdraft) 15,000

Furniture 30,000

Buildings 80,000

Prepare statement of Profit or

Loss for the year ended 31st

December, 2014, provided that

depreciation on furniture is to be

charged at 10%.

23. 2014 ^jOvq] 1jV 1,60,000 qPk

j]Sƒk]\ÿV v]o¤ KqO m]y]jôV

BqUn]¨OÐO. ApL¥

m]y]jô]jLvw|oLp A¨TºV

kOyVfW°RtLÐOU yPƒ]¨OÐ]sæ.

2014¤ ApL¥ 20,000  qPk

v|WVf]kqoLp Bvw|°¥¨Lp]

k]¢vs]¨OWpOU 10,000  qPk

Ai]W oPsijoLp] j]Sƒk]¨O

WpOU R\áOÐO. 2014 c]yUm¡

31jV ApLtORa ByVf]&mLi|f

j]spLeV fLRu RWLaO¾]q]¨OÐfV.

Cash in hand 15,000

Stock in trade 55,000

Bills Receivable 20,000

Debtors 40,000

Creditors 35,000

Bank balance

(Overdraft) 15,000

Furniture 30,000

Buildings 80,000

2014 c]yUm¡ 31Rs SðãVRo£V

KLlV SNkLl]ãV/SsLôV fáLrL¨OW.

l¡e]\ÿr]jO oOWt]¤ 10% SfpVoLjU

\L¡²V R\áeU (6)
(6)
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24. Following is the trial balance of

R. K. Traders on 31st December,

2014. Prepare Trading and Profit

& Loss account and Balance

Sheet taking into account, the

adjustments given.

24. B¡ RW SNapVScuVy]R£ 2014

c]yUm¡ 31R£ Nap¤ mLs¢yLeV

RWLaO¾]q]¨OÐfV. fÐ]q]¨OÐ

AcV^ðVRo£OWRt D¥RÕaO¾]

SNapVc]°V B¢cV SNkLl]ãV B¢cV

SsLôV A¨TºOU mLs¢yV x}ãOU

fáLrL¨OW.

Particulars Debit Amount Credit Amount

Cash at Bank 4,500 –    .

Stock (1–1–2014) 3,000 –    .

Debtors 25,000 –    .

Purchases 77,500 –    .

Sales –    . 91,000

Productive Expenses 1,800 –    .

Salaries 1,200 –    .

Commission –    . 2,000

Loan –    . 4,300

Capital –    . 17,000

Interest –    . 200

Creditors –    . 10,200

Furniture 10,500 –    .

Insurance 1,200 –    .

Total 1,24,700 1,24,700

Adjustments :

a) Closing stock was valued at Rs. 2,400.

b) Commission received in advance Rs. 800.

c) Salaries due but not paid Rs. 1,300.

d) Depreciate furniture by Rs. 1,500.

e) ¼ of insurance is unexpired.

(8)

(8)
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